C-Bow Soft bag holder

MOTO GUZZI Griso
850/1100/1200 8V

Item-no.:

" HEPCO &
630537 black BECKER

Assembling instructions

The kit includes the following parts: Preparing:

Quant item no. description Unmount the original luggage holders, they are obsolete.
2 700007063 C-Bow black The rear blinker remain in their original position.

1 700007163 C-Bow adapter front left

1 700007164 C-Bow adapter front right

1 700007165 C-Bow adapter rear left

1 700007166 C-Bow adapter rear right .

4  150.786 allen screw M8x40 Tip:

2 151.116 spacer @18x@9x5 mm

8 150.915 hexagon bolt M6x16 Fit all parts and screw on not too strong.

8  150.809 washer J6,4 After mounting all parts, the screws should be tightened
4  150.810 washer @8,4 to the torque specified.

4  150.999 special washer &8,4 This guarantees, that the kit is mounted without tension.

Control all screw connections after the assembling for tightness!
Please notice our enclosed service information.

Hepco & Becker GmbH

An der Steinmauer 6

D-66955 Pirmasens

Tel.: +49 6331 - 1453 - 100

Fax: +49 6331 - 1453 - 120

eMail: vertrieb@hepco-becker.de
www.hepco-becker.de

HEPCO &
BECKER




C-Bow Soft bag holder

MOTO GUZZI Griso
850/1100/1200 8V

" HEPCO &
BECKER

Item-no.:

630537 black

Assembling instructions

Fastening of the adapters front: @ . s
« d direct
at the original fixing point of the luggage riving direction

holders with allen screw M8x40 and
washer ¢8,4.

Sandwich special washers @8,4 between
adapter and frame.

O 5 &S

Fastening of the adapters rear:

at the original fixing point of the luggage
holders with allen screw M8x40 and
washer ¢8,4.

Sandwich special washers &8,4 and
aluspacer @18x@9x5mm between
adapter and frame.

Notice: when mounting C-Bow together
with a rear rack, special washers

and aluspacer are obsolete. @

6 T

2x ()

Fastening of the C-Bow:

with hexagon bolts M6 x 16 and washers
26,4.

@m}) 8x 8x




